EXAM MFE QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of March 26/07

A call option on a non-dividend paying stock has a current price of 100 and expiresin one year.
Y ou are given the following:

- the option A is.4942

- the option p per 1% change in r is.3463

Find the value of the call option using Black-Scholes option pricing.

The solution can be found below.



Week of March 26/07 - Solution

The option priceis SN(dy) — Ke "' N(d,) .
Wearegiven S =100and T = 1.

Also, A = N(dy) = .4942 ,and p = .01TKe "' N(dy) = .3464 ,
sothat Ke " N(dy) = 34.64 .

Theoption priceis 100(.4942) — 34.64 = 14.78 .



